वन विभाग हरियाणा सरकार कार्यालय उप वन संरक्षक, पलवल

भंगूरी रजवाह, निकट जवाहर नगर, कैम्प पलवल-121102 दूरमाष नं0 01275-248978 e-mail: dfopalwal@gmail.com

क्रमांक: 3727

दिनाँकः 21-10-2022

सेवा में,

नोडल आफिसर (एफ०सी०ए०), कार्यालय प्रधान मुख्य वन संरक्षक, हरियाणा, पंचकूला।

विषय:

Diversion of 0.0586 Ha. of forest land for access to retail outlet of IOCL on Rasulpur-Hassanpur via Gulabad-Jatoli road, at Village Gulabad under Forest Division & Distt. Palwal.

Online No. FP/HR/Approach/138514/2021

संदर्भः

उप वन महानिरीक्षक, केन्द्रीय का फाईल नं0 9-HRB155/2022-CHA दिनांक 23.08.2022.

उपरोक्त विषय के सम्बन्ध में संदर्भांकित पत्र द्वारा बताई गई त्रुटियां दूर करते हुए सूचना बिन्दु वाईज निम्न प्रकार से आपकी सेवा आगामी आवश्यक कार्यवाही हेतु प्रेषित है।

- 1 PWD. द्वारा एप्रूब्ड ले-आउट की प्रति Additional Information के तहत पहले ही अपलोड की जा चुकी है।
- 2 सुल्तानपुर जंगल एक आरक्षित वन क्षेत्र है। जहां पर नीलगाय और अन्य जंगली पशु अत्यधिक संख्या में हैं। सुल्तानपुर आरक्षित वन क्षेत्र में पहले से कोई फैंसिंग नहीं है। इसलिए पौधारोपण को ग्रेजिंग से बचाने के लिए बारवड़ वायर फैसिंग की आवश्यकता है।
- 3 CA. Site व Project Site की रंगीन टॉपोशीट अपलोड कर दी गई है।
- 4 NPV. की अलग से गणना करते हुए सी०ए० स्कीम (चैक लिस्ट-18) संशोधित करते हुए ऑनलाईन पोर्टल पर अपलोड कर दी गई है।

5 प्रस्तावित स्थल की जंगल की सीमा से दूरी को सही कर दिया गया है। संलग्न/उपरोक्त।

पू० कमांक 3728

कार्यवाही हेतु प्रेषित है।

दिनांक 21-10-2022

एक प्रति मुख्य वन संरक्षक, दक्षिणी परिमण्डल, गुरूग्राम को सूचनार्थ एवं आगामी आवश्यक षेत है।

उप वन संरक्षक, व

Letter FCA 04-2021-637

Full Title of the Project: Diversion of 0.0586 ha. Of forest land for access to retail outlet of IOCL on Rasulpur-Hassanpur via Gulawad-Jatoli road at village Gulawad under forest Division & Distt. Palwal, Haryana.

File No.: FP/HR/APPROACH/138514/2021

Date of Proposal:

CHECK LIST SERIAL NUMBER: 18 "SCHEME FOR COMPENSATORY AFFORESTATION"

Name of the forest/reach to be diverted forest area 0.81772 ha.

Detail of degraded forest land/non-forest land where CA. is to be carried out. District : Palwal

Division:Palwal

Tehsil: Palwal

CA. Site Name: Sultanpur RF

- Whether the site selected for Compensatory Afforestation is a land bank (Yes or No) No.
- b) If the CA site is other than the land bank, reasons to be given : NA. In case of non-forest area identified for CA, then what is the distance of CA site from the adjoining forest boundary :-
 - Soil Type :-
 - ii) Topography:
- Hilly/Undulating/plain:-
- b. -Slope:- Steep/Medium/Gentle:-
- Whether the area is bearing any root stock of vegetation: No Plantation Model:-

Copy of the approved Compensatory Afforestation Scheme/Model showing component - wise physical and financial break up is as under:-

1. Schedule of Plantation Programme:-

Detail of year wise break up of requirements of funds is as under :-

The plantation cost is calculated for tall plantation Norms at 4mx21/2m spacing as the wage rate of Rs 388.42 per day as under :-

Sr No	Year	Rate per plants	
		Rs 469.46/- per plant	
2.	2nd Year Maintenance	Rs 164.51/- per plant	
3.	3rd Year Maintenance	Rs 64.71/- per plant	
4.	4th Year Maintenance	Rs 25.90/- per plant	
5.	5th Year Maintenance	Rs 27.75/- per plant	
6.	6th Year Maintenance	Rs 29.60/- per plant	
7.	7th Year Maintenance	Rs 31.45/- per plant -	
8.	8th Year Maintenance	Rs 33.30/- per plant	
9.	9th Year Maintenance	Rs 35.16/- per plant	
10.	10th Year Maintenance	Rs 37.00/- per plant	
	Rs 918.84/- per plant		

Area to be diverted: 0.0586 Ha

No. of trees to be felled; 8 No.

No of plants to be damaged: 75 No.

Area to be planted under normal CA .: 0.118 Ha.

Plants to be planted under normal CA.: 118

Additional CA in lieu of plants to be damaged (Double the plants to be damaged) = 75x2=150 plants

Area to be planted under Add. CA.: 0.150 Ha. (@ 1000 plants per Ha.)

Total No. of plants to be planted: (CA+Add, CA): 268

Total Area to be planted: (CA+Add. CA): 0.268 Ha. (@ 1000 plants per Ha.)

No			Rate	Total Amou
(A)	Compoensatory Afforestion Charge	No of plants		(Rs)
	(1) 1st year Cost of Afforestation	118	Rs 469.46/- per plant	55397
	(2) 2nd year Maintenance	118	Rs 164.51/- per plant	19413
00	(3) 3rd year Maintenance	118	Rs 64.71/- per plant	7636
	(4) 4th year Maintenance	118	Rs 25.90/- per plant	3057
	(5) 5th year Maintenance	118	Rs 27.75/- per plant	3275
	(6) 6th year Maintenance	118	Rs 29.60/- per plant	3493
	(7) 7th year Maintenance	118	Rs 31.45/- per plant	3712
	(8) 8th year Maintenance	118	Rs 33.30/- per plant	3930
	(9) 9th year Maintenance	118	Rs 35.16/- per plant	4149
	(10) 10th year Maintenance	118	Rs 37.00/- per plant	4366
19	(11) Barbed wire fencing charges	0.472	Rs 200000/- per RKM	94400
	Total charges	0.472	N	
-	<u></u>	- A		202828
	Supervisory/Overhead/Miscellaneous charges	*	10% of the total CA charges	20283
-	Total (A) CA. Charge	ш.	K	223111
	Add. Compoensatory Afforestion Ch	arge		a .
	(1) 1st year Cost of Afforestation	150	Rs 469.46/- per plant	70419
	(2) 2nd year Maintenance	150	Rs 164.51/- per plant	24677
	(3) 3rd year Maintenance	150	Rs 64.71/- per plant	9707
	(4) 4th year Maintenance	150	Rs 25.90/- per plant	3885
74	(5) 5th year Maintenance	150	Rs 27.75/- per plant	4163
511	(6) 6th year Maintenance	150	Rs 29.60/- per 1	4440
	(7) 7th year Maintenance	150	Rs 31.45/- per plant	4718
	(8) 8th year Maintenance	150	Rs 33.30/- per plant	4995
	(9) 9th year Maintenance	150	Re 35 16/ por	5274
	(10) 10th year Maintenance	150	Rs 37.00/- per plant	5500
	(11) Barbed wire fencing charges	0.6	Rs. 200000/- per RKM.	120000
	PN 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7			
	Total (B) Add. CA. Charge			257778

D	Catchment Area Treatment				0	
	Soil and Moisture Conservation Cha	30% of Total CA.	66934	ī		
	Total (D)					
E	Safety Zone (if required)					
F	Additional Charges (if required)	Qty.	RATE			
	Cost for Fuel	0	0		0	
	Fertilizer	0	0		0	
	Portable water Pump	0	0		0	
	Total (F)				0	
G	Felling Charges	Vol. M ³	Rs. 1200/- M ³	11376		
		9.48		1.0		
H	Exigency Charges 3% of the Total Cost of (A+B+C+D+E+F+G)			16776		
	Grand Total (A+B+C+D+E+F+G+H) to be deposited in CAMPA Fund					

2. Technical details:-

Technical details of Compensatory Afforestation Scheme are as follows:-

a) General Details: Plantation will be done with 3 strand barbed wire

b) Spacement : $4x2\frac{1}{2}$.

c) Species : P. Papri, J. Jalebi, B. Papri,

d) Plantation Method : Tall Plantation

e) Soil and Moisture Conservation Works:

f) Protection (Fencing, Watch man, People's Participation etc.): NIL

g) Proposed Monitoring Mechanism : M&E, Hissar Division

h) Any other information : -----

Place: Palwal

Dated:

Dy. Conservator of Forests 2 PALWAL Palwal Forest Division

Office Seal.....

Note: CF (T) Should countersign this C.A. scheme if area to be afforestated is more than 5 ha.

Full Title of the Project: Diversion of 0.0586 ha. Of forest land for access to retail outlet of IOCL on Rasulpur-Hassanpur via Gulawad-Jatoli road at village Gulawad under forest Division & Distt. Palwal, Haryana.

File No.: FP/HR/APPROACH/138514/2021

Date of Proposal:

Calculation sheet for NPV. as per instruction received from office of APCCF (FC), Haryana, Panchkula letter No. NT/1105-08 dated 08.07.2022

Forest area to be diverted

0.0586 Ha.

Vegetation density

No. of Tree or Plants effected/area

diverted/1000= (83/0.0586/1000) =1.4

Eco-Class

Eco-Class-III

NPV. Rate per Ha. as Eco-Class

1357110/- per Ha. (Very Dense)

Total NPV.

 $0.0586 \times 1357110 = 79527/$

Total amount to be deposited

CA. Scheme Amt. + NPV.

575975 +79527 = 655502/-

Place: Palwal

DyDC: Consciolator of Forests of Palwal Polesi Division

Dated:

Office Seal.....